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Pick up

nine pinecones
from the forest floor
and two acorns.
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Jstamic Primary Scheol — Composition of 11 2. 1 Migl gives the lollipogs t0 5 children. To give AL chikdran how many

Class: Mame: [P lollipaps does he nesd to give?. E are boys, are girls. E f

1. Maother buys 8 ice-creams for the children. To give ALL children how many

ice-creamms does she nead to buy? .
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1:19 1. Do you have bed at home?
2. How big is a bed?

3. How is your bed? What is the shape
for your bed?

4.  How big should it be to fit the queen?
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« How big is a foot?

. Can this bed fit to the queen? Why?
» —(EAA®RIE, 5/ Astandard unit NG P C A ETSOIYERHT

problem?

° %U . YO uTu be;l:ﬁ 7]'5[ ﬁ& E_g_ Why does he need the King's foot?

Now, can this bed fit to the queen?

5:41 EE “anyone who wanted to measure
anything use a copy of the King'’s foot.”
Is this a good method? Why? Why not?
5:52 SE4E
But, we don’t have a king. How can we
measure?
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2 bugs are picking beans for dinner.
Can you tell me how many beans do they
have now?
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« Bean Thirteen
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A They still cannot share 13 beans equally.
What do they do?

(Draw the ideas on the classwork)

Why does Ralph tell Flora not picking 13
beans?

r' 3. J | After sharing , they got & beans each and 1

w@? left. Do you know why?
B/% 5£ ﬁj\ % E/\] *E% — Now they invite April to come. Do you think

—
/0N that they can share 13 beans equally ?
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Absolutely it can’t. So what do they do?
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They still cannot share them equally? What

do they do?
(Draw the ideas on the classwork)

Can they share the beans equally? (No)
Now let see the result at last.

SE4s
At last , the bugs eat the beans as much as
they can , they eat all the beans. But actually
they still cannot share 13 beans equally.

If you were a bug , how do you solve the
problem?
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